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Learning Objective 

 

To find decimal complements to 1 whole  

 

 

 

SA 

 

TA 

 

Success Criteria 

 

I can use my number bonds to ten   

I can find complements to one using numbers with 2 decimal 

places 

  

I can find complements to one using numbers with 3 decimal 

places 
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Pre-task answers 

0.81 + 0.19 = 1      0.067 + 0.933 = 1 

0.13 + 0.87 = 1      0.284 + 0.716 = 1 

 

Teacher Led 

Firstly for today’s lesson, you will need to use your number bonds to ten. 

Write them down – I have started them for you. 

1 + 9 = 10 

2 + 8 = 10 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          

          

          

Now look at this bar model. It 

shows tenths. Each piece is one 

tenths or 0.1 

I have shaded 3 tenths blue and 7 

tenths red. This makes a whole one. 

It shows 0.3 + 0.7 = 1 

I can also use a decimal number 

line to count on. 

 

The next bar model shows 6 tenths 

red and 4 tenths blue. 

0.6 + 0.4 = 1 

I could also write this as a 

subtraction 

1 – 0.6 = 0.4 or 1 – 0.4 = 0.6 

 

This one shows 

0.9 + 0.1 = 1  or  0.1 + 0.9 = 1 

1 – 0.9 = 0.1  or  1 – 0.1 = 0.9 

 

Can you see the link to our number 

bonds? How many ways can you 

make 1? 



 

 

 

 

          

          

          

          

          

          

          

          

          

          

 

 

Ones 1/10 1/100 

0 
0 

6 
3 

4 
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Ones 1/10 1/100 

0 
0 

1 
8 

1 
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So far we’ve looked at numbers with one decimal 

place (one digit after the decimal point). 

Now let’s look at numbers with 2 decimal places. 

 

Here you can see a hundred square. Our 

decimals will need to total 100. 

I’ve shaded 64 squares red and 36 squares blue. 

64 hundredths and 36 hundredths make one 

whole. 

0.64 + 0.36 = 1    or     0.36 + 0.64 = 1 

1 – 0.64 = 0.36    or     1 – 0.36 = 0.64 

If we look on a place value grid – I can see that 

the hundredths add up to 10, the tenths up to 9. 

 

 

 

Here is another example. 

0.11 + 0.89 = 1      or    0.89 + 0.11 = 1 

1 – 0.11 = 0.89      or    1 – 0.89 = 0.11 

 

Again, the hundredths add up to 10 and the 

tenths add up to 1. 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ones 1/10 1/100 1/1000 

0 
0 

0 
9 

8 
1 
 

5 
5 

Ones 1/10 1/100 1/1000 

0 
0 

3 
6 

6 
3 
 

8 
2 

Now let’s look at numbers with 3 decimal places. 

The decimals will need to total 1000. 

This time the thousandths add up to 10, the 

hundredths add up to 9 and the tenths add up to 

9. 

0.085 + 0.915 = 1   or   0.915 + 0.085 = 1 

1 – 0.085 = 0.915   or   1 – 0.915 = 0.085 

 

Here is another example 

0.368 + 0.632 = 1   or   0.632 + 0.368 = 1 

1 – 0.368 = 0.632   or   1 – 0.632 = 0.368 

 

 

 

 



 

 

 

 

 

 

 

 

 

Fluency 

A)  
1) 0.1 + ? = 1 
2) 0.7 + ? = 1 
3) 05. + ? = 1 
4) 1 - ? = 0.2 
5) 1 - ? = 0.4 
6) 1 - ? = 0.9 
7) 0.35 + ? = 1 
8) 0.75 + ? = 1 
9) 0.26 + ? = 1 
10) 0.83 + ? = 1 
 
 

B)  
1) 0.26 + ? = 1 
2) 0.83 + ? = 1 
3) 0.45 + ? = 1 
4) ? + 0.79 = 1 
5) ? + 0.12 = 1 
6) ? + 0.64 = 1 
7) 0.37 + ? = 1 
8) 0.91 + ? = 1 
9) 0.08 + ? = 1 
10) ? + 0.53 = 1 
 

C) 
1) 0.625 + ? = 1 
2) 0.185 + ? = 1 
3) 0.935 + ? = 1 
4) 1 - ? = 0.813 
5) 1 – ? = 0.092 
6) 1 - ? = 0.274 
7) 0.751 + ? = 1 
8) 0.569 + ? = 1 
 

 

 

 



 

Fluency Answers 

 

 

 

A)  
1) 0.1 + 0.9 = 1 
2) 0.7 + 0.3 = 1 
3) 05. + 0.5 = 1 
4) 1 – 0.8 = 0.2 
5) 1 – 0.6 = 0.4 
6) 1 – 0.1 = 0.9 
7) 0.35 + 0.65 = 1 
8) 0.75 + 0.25 = 1 
1) 0.26 + 0.74 = 1 
2) 0.83 + 0.17 = 1 
 
 

B)  
1) 0.26 + 0.74 = 1 
2) 0.83 + 0.17 = 1 
3) 0.45 + 0.54 = 1 
4) 0.21 + 0.79 = 1 
5) 0.88 + 0.12 = 1 
6) 0.36 + 0.64 = 1 
7) 0.37 + 0.63 = 1 
8) 0.91 + 0.09 = 1 
9) 0.08 + 0.92 = 1 
10) 0.47 + 0.53 = 1 
 

C) 
1) 0.625 + 0.375 = 1 
2) 0.185 + 0.815 = 1 
3) 0.935 + 0.065 = 1 
4) 1 – 0.187 = 0.813 
5) 1 – 0.908 = 0.092 
6) 1 – 0.726 = 0.274 
7) 0.751 + 0.249 = 1 
8) 0.569 + 0.431 = 1 
 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Problem Solving and Reasoning 

 

 



 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answers 

 

 



 

 

 

Further Challenge 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 


